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2pin | 3pin | 4pin | Spin | 6pin [ 7pin | 8pin | 9pin | 10 pin
Rated current 7A TA SA 4A 4A 4A 4A 4A 4A
Rated voltage 125v | 125v [ 125v | 125v | 125V | 125V | 125v | 125V | 125V
Working voltage |, | 500 | 200 | 200 | 200 | 200 | 200 | 200 | 200
(AC. V) minute
Withstand voltage | ¢ | 1500 | 1500 | 1500 | 1500 | 1500 | 1500 | 1500 | 1500
(AC. V) minute
Insulation resistance
MO Dvsoov | 1500 | 1500 | 1500 | 1500 | 1500 | 2000 | 2000 | 2000 | 2000
Contact resistance
R BETA 3 3 3 & 3 3 3 3 3
C°"ta“('"n91 :‘p)ert“’e“’ 245 | 245 | 245 | 2 | 115 | 115 | 115 | 115 | 115
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